Akersberga BS
SUSANNA 2022-08-11

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poéng % Namn MID Klubb
1 6 125 65.10  Jan Holm - Bertil Blomgvist 54966 52968  Akersherga BS
2 4 120 62.50 Lena Bjon-Aaltonen - Gunilla Ostervall 2602 9131 Akersberga BS
3 10 107 55.73 Sten Frykholm - Hans Ahlstrém 62363 59983  Akersberga BS
4 2 99 51.56 Britt Edlund - Karl Kedland 10455 62396  Akersberga BS
5 3 97 50.52 Ingrid Molin - Anna-Greta Berg 62268 49605  Akersberga BS
6 8 96 50.00 Ove Jansson - Inga Nyberg 9090 33178  Akersberga BS
7 1 83 43.23 Kerstin Fernbrink - Roger Jaderberg 60281 54330  Akersberga BS
7 5 83 43.23 Clas Hero - Solveig Hero 57611 57610  Akersberga BS
9 7 77 40.10  Ann Varcoe - George Varcoe 62266 62267  Akersberga BS
10 9 73 38.02 Sven Alenius - Carl-Johan Tersmeden 54714 55579  Akersberga BS
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
9 1 3NV-1 4Q 50 8000(3 6 2#V-1 4T 50 8000(9 1 INN+1 #3 120 800.0(8 1 4vV-3 T 300 8.00.0
2 4 3NV= «Q -400 503010 5 2¢vS-1 ¢A -100 6.020(10 5 1¢ O-1 #J 100 6.020/10 6 4vV= &A -620 6.0 2.0
10 5 3NV= 49 -400 5030(7 8 3¢ O= A -110 4040|2 4 2NS-1 48 -50 3.050|4 7 44 O+1 ¢3 -650 4.0 4.0
3 6 3NV+1 «4Q -430 1.070(2 4 2y N-2 ¢A -200 1.070( 3 6 2¢N-1 ¢J -50 3.050(3 5 3NV+2 ¢J -660 1.07.0
7 8 BNO+1 #2 -430 10709 1 2NS-2 #A -200 1.070(7 8 INO+1 #4 -120 0.08.0|9 2 3NV+2 #A -660 1.07.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poéang
4 7 29 N+1 #7 140 8000|110 6 44 V-3 vK300 8000|5 8 3NO+1 v4 -630 8000|1 2 24 S+1 #4 140 7.01.0
8 1 1vN= +2 80 6.020(8 1 2¢yrN-2 ¢A -100 6.020(1 2 3NO+2 ¢5 -660 503.0(10 7 34 S= &3 140 7.01.0
3 5 3vN-2 ¢A -200 30504 7 3¢ O+1 #3 -130 40409 3 3NV+2 v2 -660 5030|5 8 3¢ O-2 v4 100 4.04.0
10 6 2¢v N-2 4J -200 30503 5 3NV+1 vK -630 1.07.0/10 7 3NO+3 46 -690 2060| 4 6 34S-1 #J -50 1070
9 2 49y N-3 #J -300 00809 2 3NV+1l vK -630 1.070(4 6 6NV= &A-1440 0.080|9 3 2¢yN-1 &K -50 1.07.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
10 7 44 N= vA 420 8000|(6 1 2vV= 46 -110 701.0|5 7 44 S+2 #2 480 800010 8 14 N= &9 80 8.00.0
1 2 3y N+1 4aA 170 6.02.0|10 8 2¢v V= &5 -110 701.0| 2 3 44 S+1 v9 450 60205 7 3vS-1 #A -100 50 3.0
5 8 5¢ O-1 #A 100 4.040(2 3 2vV+l 45 -140 4040(6 1 64S-1 v9 -50 206.0(6 1 24 N-1 #9 -100 5.0 3.0
4 6 3¢ O+1 #A -130 10709 4 2vS-2 #Q -200 206.0| 9 4 64S-1 vJ -50 206.0|2 3 3NN-2 ¢4 -200 2.06.0
9 3 46 0= &A -130 1.070|5 7 3NV= &5 -600 0080(10 8 64 S-1 vJ -50 206.0|9 4 44 N-3 &9 -300 0.08.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
110 3¢ O= &K -110 800.0| 6 8 4vS= 48 420 80009 5 3NN= 42600 8000|4 5 560-1 vQ100 8.00.0
3 4 260 0+2 #Q -130 3.050(9 5 3vS+2 44 200 6020(6 8 2NS= #Q120 6.020|8 3 4vyN-2 ¢3 -100 6.0 2.0
6 8 3¢ O+1 #6 -130 3.050( 110 3y S+1 48 170 2060|110 24 N= #A 110 3.050(7 1 340+1 vQ -170 4.0 4.0
7 2 34 0O+1 #9 -130 3.050(3 4 3y N+1 48 170 2060(7 2 24 N= ¢4 110 3.05.0( 210 24 O+3 v4 -200 1.07.0
9 5 2¢ O+2 #K -130 3.050|7 2 3vyS+1 44 170 20603 4 3NS-1 #Q -100 0080|9 6 24 O+3 v2 -200 1.07.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
7 1 2¢ V= #8 -90 8000|4 5 5¢S= 4A600 8000(1 4 3NS+2 49460 7.010| 310 3vV+1l A -170 8.0 0.0
210 24V+1l 4Q -110 5030|210 4¢ S= &4 130 6020|310 3NS+2 48 460 7.010|9 7 4vyV+l #A -650 6.0 2.0
4 5 2¢ V+1 v4 -110 5030( 7 1 44DO-1¢A 100 404.0|8 2 54N+1 ¢T 420 4.040|1 4 4vV+2 #A -680 2.06.0
9 6 3¢ V+1 4Q -130 2060| 8 3 5¢ S-1 #J -100 20605 6 3NS= ¥5400 206.0|5 6 4vV+2 &3 -680 2.06.0
8 3 24S-3 &5 -150 0080|9 6 3y N-3 4K -300 00809 7 6NN-2 A -100 0080|8 2 4vyV+2 #A -680 2.06.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
8 2 4vS+1 aA 650 7.010( 410 24 S+1 v3 140 80009 8 4eV-1 #9100 8000|410 4v0O-1 «aA 50 7.01.0
9 7 5vS= 4A650 7010(2 5 24S= ¢K110 5030(1 3 4¢ S-3 #K -300 6.020(6 7 4vO-1 v5 50 7.01.0
1 4 5¢ N= 4K600 4040|6 7 3#S= Q110 5030(2 5 540= ¢A -600 40401 3 INV+3 #«Q -180 4.04.0
310 44V-1 &K 50 1.070|9 8 44S-2 ¢K -100 206.0( 410 44 V= ¢J -620 107.0|2 5 3NV= &4 -400 2.06.0
5 6 44V-1 vA 50 1070|1 3 44S-3 8 -150 00806 7 540+1 ¢A -620 1.07.0| 9 8 49y O= &K -420 0.08.0
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